
Alto
Primo Choro G

Echo rispondi
Risonanza d’Echo A 8.

Orazio Vecchi (1550-1605)
Selva di Varia Ricreatione, Venezia 1590, no. 33

S
6�

2�

E

	 �
- - cho

� >
ri

�
- spon

�
- di

�
O

�
E

�
- cho

� >
O

�
E

	
-

>

4

G
6 �

- cho

� >
Tu

�
che

�
giu

� 9 �
ÈÈ

- bi

�
- li

� 4
me

�
- co

� >
Tu

�
che

�
giu

� 9 �
ÔÔ

- bi

�
- li

�
me

�
- co

�
Dı̀

�

7

G >
Dı̀

�
quan

�
- do

�
gio

��
- i

(�
- ran

�
Dı̀

�
quan

�
- do

�
gio

��
- i

(�
- ran

�
le

�
val

� < �
- - lî ê i
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ciâ e

�
gio

� � 4
- co

	 >
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